APEX8 HD 8IN Explainer (

with 3DP)

Carbon Fiber

Upper Plate .,aa‘..

Recommended for ages 14 +

The model

is dangerous!

[~

TPU antenna
pedestal

Hexagona.

aluminum

Carbon fiber board parameters and quantity]

M3%6 arbon fiber medium plate

Carbon Fiber Upper Plate Thickness:Z2. Omm/1PCS
Carbon fiber medium plate thickness :2. 5mm/1PCS
Carbon Fiber Bottom Plate Thickness :2.5mm/1PCS
Carbon Fiber Arm Thickness :5. 5mm/4PCS

Carbon Fiber Center Plate Thickness:5. 5mm/1PCS
Carbon fiber side plate thickness :2.0mm/2PCS

TPU camera head

Carbon Fiber Arm \"

Product Specification and Quantity

Carbon Fiber Side

Hexagonal
aluminum
tubeM3%28*5

L

Carbon Fiber

Black round cup:M3#6/ Quantity l4pcs
Black round cup:M3%10/Quantity 2pcs
Black Cup Head :M3*8/Quantity 4pcs
Black Cup Head :M3*14/Quantity 4pcs
White Flat Top:M3%20/Quantity 4pcs
Platen rivet nut:M3/Quantity 8pcs
Locknut :M3/Quantity 4pcs

Screw shim:M3/Quantity 8pcs
Hexagonal aluminum tube:M3%20%5/Quantity 4pcs|
Hexagonal aluminum tube :M3%28%5/Quantity 4pcs
TPU antenna pedestal:lpcs

TPU camera head:2pcs (One left and one right)
TPU front protective seat:lpcs

!‘_
(5} = < ,—’ Carbon Fib Lower Plate
N l-' —=Lenter Plat
o e = & OM3*6
/% e 0. & S \) .
M3 screw . \ i - 1T} U fror.lt
washer \ protective seat
88 — 7 1)
: M3 screw S
g washer &
—
© M3*14

Carbon Fiber Arm




